MAS115 Calculus T 2007-2008

Problem sheet for exercise class 2

* Make sure you attend the excercise class that you have been assigned to!
e The instructor will present the starred problems in class.

* You should then work on the other problems on your own.

e The instructor and helper will be available for questions.

e Solutions will be available online by Friday.

Problem 1: Fvaluate in terms of radicals

() (1) sin 22

(i) cos 75 {2007 exam questions]
Problem 2: Find a formula for fo g and go f and find the domain and range ol each.
(a) fla) =2 -2, glx) = Vo2
O f@-VE, g =VIE

Probiem 3: Prove the identity
P—cosz sin r

sinz [ cosx

Problem 4: The graph of f is shown. Draw the graph of cach function.

(a) y= [(=2), (D) y = = [(x), (c) y=~2f(x 4+ V) 1 1, (d) y = 8f(z - 2) - 2
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Domain of fog:

fblec 7 (L)

Domainof gof: [0
Range of fog: [0
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